Name:_______________________

Patterns  Homework

Date:___________
1.  For the diving board platform pattern below, draw figure 0 and figure 4.  Then fill in the table and graph the points.  Finally, answer the two questions below.

Figure #   

         0            
 1      
   
     2       
      
        
3         

             4
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Table                                                                              


Graph

	x
	y

	0
	

	1
	

	2
	

	3
	

	4
	


Expression:_____________________

a. How many tiles for figure number 8? __________

b. What figure number has 14 tiles? _________

__________________________________________________________________
2.  The blocks below are arranged in sequence to show a pattern.                HINT:    MAKE A TABLE
	x
	y

	0
	

	1
	

	2
	

	3
	

	4
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Which expression can be used to determine the number of blocks at Stage n?

A  x – 1

B  3x – 1

C  x + 1 

D  (x – 1) + 2x

________________________________________________________________________________________

3. Which of the following equations best represents the relationship in the set of data shown

	X
	0
	1
	2
	3
	4

	Y
	1
	2
	3
	4
	5


 below?
A   x2 + 1

B  x + 1

C  2x +1

D  2x
4. The squares below show a pattern.




         HINT:    MAKE A TABLE
	x
	y

	0
	

	1
	

	2
	

	3
	

	4
	



Which expression can be used to determine the number of squares at stage n?

A  4x – 2

B  5x – 3

C  x² + x

D  2x²
________________________________________________________________________________________
5. For a sports banquet Coach Brown must use rectangular tables in the school cafeteria. The

diagram below shows the seating arrangement that Coach Brown can use at 1 and 2 tables.         = 1 person
     



Which expression can be used to determine the 



HINT:    MAKE A TABLE
number of people who can sit as a group if n
	x
	y

	0
	

	1
	

	2
	

	3
	

	4
	


tables are joined to form 1 long table?

A  4n + 4

C  4n + 2




B  3n + 3

D  6n
_________________________________________________________________________________________

6. Write the expression to the pattern below. 

Expression:____________________________
